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  1  201/AFC 
 

^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

 

 
 

 

 
 
 
 
 

jdia;úl mrSlaIK m%Yak  (OTQs) 

(uq¿ ,l=Kq 25) 
 

 

m<uqjk m%Yakh ioyd fhdacs; W;a;r :    
 

1.1   W;aa;rh (2)       (,l=Kq  02) 

1.2 W;aa;rh (2)       (,l=Kq  02) 

1.3 W;aa;rh (4) 
 

úl=Kqï ñ,  1,400,000 100% 

    

úl=Kqï msrsjeh      

wdrïNl f;d.h 170,000   

.ekqï 910,000   

wjidk f;d.h (240,000) (840,000) 60% 

  560,000   40% 

 
840,000 

× 100 = 1,400,000 
60 

                                                                                                                                               (,l=Kq  02)
    

1.4 W;aa;rh (1) 
2018.04.01 oskg msrsjeh  3,600,000 

jir 01 – laIH 31.03.19 = 3,600,000 – 100,000/5 (700,000) 

jir 02 – laIH 31.03.20  (700,000) 

jir 03 – laIH 31.03.21  (700,000) 

2021.03. 31 oskg OdrK w.h  1,500,000 

          (,l=Kq  02) 
 

A fldgi 
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  2  201/AFC 
 

^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

1.5     W;aa;rh (3) 
(EOQ)  = 

√
2𝐷𝐶0

𝐶ℎ
 

            = 
√

2 × 20,000 × 200

0.50
 

            =   4,000 

                                                                                                           (,l=Kq  02)      

1.6  
1    1890 yjq,a jHdmdr wd{d mk;  

2 jxpd je<elaùfï wd{d mk; 

3 jHdmdr kdu ,shdmosxú lsrSfï mk;  

4 yjq,a jHdmdr i|yd wod, jk wdodhï nÿ úê úOdk 

5 iud.ï mk; 

6 jHdmdr ,shdmosxÑ mk; 

7 mrsirh wdrlaId lsrSu iïnkaO kS;s 

(,l=Kq  02) 

1.7    

1 ,smslre msrsjeh wju lr .; yels w;r mqkrdj¾;; ld¾hhka wju lr .; yelsh' 

2 .sKqï f;dr;=re myiqfjka ,nd .; yel'  

3 ish,qu .Kqfokq j, ;;Hld,Sk f;dr;=re imhhs' 

4 ksjeros ld¾h msrsjeh .Kkh lsrSug Woú lrhs' 

5 we;=,;a lrk o;a;j, úYajdikSh;ajh jeä lrhs' 

6 ld¾h M,odhS;djh jeä lrhs' 

7 ;SrK .ekSu fõ.j;a lrhs' 

8 .sKqïlrK ld¾hhka jvd;a ld¾hlaIu yd M,odhS f,i md,kh fõ' 

9 ,dN ieiÿï wjYH fkdfõ' 

 (,l=Kq  02) 
1.8  

1 wju fldgia ysñhka ixLHdj - iud.ï mk;g wkqj wju ixLHdj tlla fõ' 

2 Wmrsu wOHlaIljreka ixLHdj -  wiSñ; fõ' 

  (,l=Kq  03) 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

1.9  
 
uQ,sl jegqm =  osk 20  ×  meh 8 × re.300 =  48,000 

 
mdrsf;daIsl  = meh 10 × 300 × 75%         =    2,250 

    50,250 
 
 
mdrsf;daIsl .Kkh 
 

i;H meh tall 2,040 × ñks;a;= 5    =  meh 170 

 ñks;a;= 60    
    
m%ñ; meh meh 8 × osk 20  = meh 160 
b;srs l< ld,h   meh   10  

 

 (,l=Kq  04) 
1.10 
 

                                                    VAT md,k .sKqu                                 
wuq øjH  172,800 b$f.$fYa 48,000 
(2,160,000 × 8%)  úl=Kqï 432,000 
  (5,400,000 × 8%)  
wfkl=;a .ekqï 25,920   
(324,000 × 8%)    
m$f.$fYa 281,280   

 480,000  480,000 
 

 (,l=Kq  04) 
      (uq¿ ,l=Kq  25) 
 

 

 

 

 

 

 

 

 

 

 
 

A fldgfiys wjidkh 
 



 

  4  201/AFC 
 

^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

(uq¿ ,l=Kq 50) 

fojk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfÊoh 4 - wiïmQ¾K jd¾;d Ndú;lr uQ,H m%ldYk ms<sfh, lsÍu iy ,dN i|yd 
fkdjk ixúOdk i|yd uQ,H m%ldYk 

 

 W1 

uqo,a .sKqu 

fYa/b/f.    2,925  w;amsg .ekqï 2,812.5 

w;amsg úl=Kqï      7,875  fjf<| f.úh hq;= 3,375 

fjf<| ,eìh hq;=     5,625  úÿ,sh úhoï      562.5 

nexl= Kh 1,000  kv;a;=   630  

  jegqma    3,892.5 

 
  fudg¾ r:     2, 250  

 
  fYa/m/f.   3,902.5  

 

17,425 
 

17,425 

    
 

ksi, fÜ%v¾ia 
2021'03'31 oskg 
 fYaI msrslaiqu 

(re. ‘000) 
 
bvu iy f.dvke.s,a, 10,800  

fudag¾ jdyk 16,650  

f;d.h 5,625  

fjf<| ,eìh hq;= uqo,a 6,075  

uqo,a fYaIh  (W1) 3,902.5  

nexl= Kh  1,000 

fjf<| f.úh hq;= uqo,a  3,040 

WmÑ; úÿ,sh (W4)  380 

m%d.aOkh  (W5)  37,755 

úl=Kqï  (7,875 +5,400) (W2)  13,275 

w;amsg .ekqï (2,812.5 + 2,815) (W3) 5627.5  

úÿ,sh 447.5  

ld¾hd, kv;a;= 630  

jegqma 3,892.5  

laIh - f.dvke.s,s (11,250 – 10,800) 450  

laIh - fudag¾ r: (15,750 + 2,250 -16,650) 1,350  

fmd<S úshou (W6) 7.5  

WmÑ; fmd<S (W 6)  7.5 

 55,457.5 55,457.5 

B fldgi 
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W2                                                                                    

fjf<| ,eìh hq;= md,k .sKqu 
fYa/b/f.   6,300 uqo,a   5,625 

úl=Kqï   5400 
  

 

  fYa/m/f.   6,075  

 

11,700 
 

11,700 

 
  

   
 
W3 

fjf<| f.úh hq;= md,k .sKqu 

uqo,a   3,375  fYa/b/f. 3,600 

  

.ekqï   2,815 

fYa/m/f.   3,040  
  

 

6,415  
 

  6415  

 
  

   
 
W4 

WmÑ; úÿ,sh .sKqu 

uqo,a      562.5 fYa/b/f.      495  

  

,d/,d     447.5 

fYa/m/f.     380 
  

 

 942.5  
 

942.5 

     
 
W5 - m%d.aOkh   

m%d.aOkh   = 2020.04.01  oskg j;alï  - 2020.04.01  oskg j.lSï 
 = (11,250 + 15,750 + 5,625 +6,300 + 2,925) - (3,600 +495) 
 = 41,850 - 4,095 
 = 37,755  

W6 - Kh fmd<S 

1000 × 9% × 1/12 = 7.5 
 (uq¿ ,l=Kq  10) 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

;=kajk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfÊoh 3 - yjq,a jHdmdrhla i`oyd jQ uQ,H m%ldYk 

 
(a)  

       yjq,alrejkaf.a cx.u .sKqï                           (re.’000) 

 oñ;a Wos;a ókd  oñ;a Wos;a ókd 

fYa/b/f. - 800 - fYa/b/f. 1,500 - 600 

.eks,s  900   m%d.aOk fmd<S 1200 800 800 

    yjq,a fõ;k  - 480 - 

fYa/m/f. 3080 1440 1760 ,dN fldgia  1,280 960 960 

 3,980 2,240 1,760  3,980 2,240 1,760 

 (,l=Kq  05) 
 
(b) 
                                                    yjq,alrejkaf.a m%d.aOk .sKqï                          (re.’000) 

 oñ;a Wos;a ókd  oñ;a Wos;a ókd 

lS¾;skduh 
960 720 720 fYa/b/f. 12,000 8,000  

    uqo,a   8,000 

    lS¾;skduh  1,600 800  

                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           
m%;Hd.Kk 
,dNh  2,000 1,000  

fYaIh m$f.  14,640 9,080 7,280     

 15,600 9,800 8,000  15,600 9,800 8,000 

 
W1 – ,dN fldgia  
 

 40% 30% 30%  

 oñ;a Wos;a ókd tl;=j 

Y+oaO ,dNh    6,480 

m%d.aOk fmd<S  (1,200) (800) (800) (2,800) 

fõ;k  (480)  (480) 

 1,280 960 960 3,200 

 
 (,l=Kq  05) 

 (uq¿ ,l=Kq  10) 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

y;rjk m%Yakh ioyd fhdacs; W;a;r : 

mßÉfÊoh 4 - wiïmQ¾K jd¾;d Ndú;lr uQ,H m%ldYk ms<sfh, lsÍu iy ,dN i|yd 
fkdjk ixúOdk i|yd uQ,H m%ldYk 

(a) 
.%Ska f.d,a*a l%Svd iudch 

2020'12'31 Èfkka wjika j¾Ih ioyd  
wjkay,a fjf<o .sKqu 

úl=Kqï   

  

                  60,000  

   

    

úl=Kqï msrsjeh 
 

    

f;d. 2020.01. 01 

 

                   7,500    

.ekqï  (W1)  

 

                44,700    

f;d.h 2020.12. 31 

 

              (10,500)              (41,700) 

   

    

o< ,dNh  

 

                  18,300  

   

    

úhoï   

  

    

úÿ,sh 

  

                   1,050    

fjk;a mrsmd,k úhoï   

 

                   1,125                  (2,175) 

   

                  16,125  

   

    
 

 
W1  

fjf<| f.úh hq;= .sKqu 

uqo,a     38,700  fYa/b/f.     12,000  

 

  .ekqï       44,700  

 fYa/m/f.     18,000  

  

 

    56,700  

 

    56,700  

(,l=Kq  03) 
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(b) 
.%Ska f.d,a*a l%Svd iudch 

2020 foieïn¾ 31 Èfkka wjika j¾Ih i|yd 
wdodhï yd úhoï .sKqu 

wdodhu 

  

    

mß;Hd. 

  

                  1,575  

wjkayf,ka ,enQ ,dNh  

 

          16,125  

j¾Ifha idudðl uqo, (W2)             19,350  

   

           37,050  

úhoï  

  

    

ÿrl;k  úhoï 

 

                     1,010    

úÿ,sh 

 

          2,100    

mqyqKqlrejka i|yd f.ùï 

 

                   4,725    

wfkl=;a  úhoï 

 

                        1,125    

laIh - f.dvke.s, s (W3)  

 

               20,000    

laIh - l%Svd WmlrK  (W3)  3,000             31,960  

j¾Ih i|yd w;sßla;h 

 

             5,090  

   

    

 
W2 – idudðl uqo,a           

 idudðl uqo,a .sKqu          

fYa/b/f.– ysÕ uqo,a            1,350   fYa/b/f.– l,ska   ,o uqo,a                       450  

 

   ,eîï yd f.ùï .sKqu                 20,025  

idudðl uqo,a          19,350  

  fYa/m/f.– l,ska   ,o uqo,a                675   fYa/m/f.– ysÕ uqo,a                       900  

 

  

  

 

         21,375  

 

                21,375  

      
W3 – laIh 
 
laIh - l%Svd WmlrK   = 24,000 +5,250 -26,250 =      3,000 

 
laIh - f.dvke.s,s = 120,000 – 100,000 =    20,000 

 
 

(,l=Kq  07) 
(uq¿ ,l=Kq 10) 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

miajk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfþoh  9 - msßjehlrK l%u 

 
(A)  
(a) 

úia;rh m%udKh  tallhl ñ, msrsjeh (re.)  

wuq øjH 0.45 700               315  

Y%uh 0.50  200 100  

ksIamdok fmdÿld¾h msrsjeh   iDcq Y%ufhka 50]                  50  

weiqreï msrsjeh   I¾Ü tlla re. 25$- ne.ska                   25  

uq¿ msrsjeh   490 

 

 (,l=Kq  03) 
(b)                                                          re¡ 

úl=Kqï ñ, 750 

msrsjeh 490 

tallhl ,dNh 260 

tall .Kk 1,000 

weKjqfï ,dNh 260,000 

    (,l=Kq  02) 
(B)  
(a) 

 wuq øjH md,k .sKqu 

fYa/b/f.  42,000   fkdksñ f;d.   275,000  

.eKqï 325,000   fYa/m/f.  92,000  

 

  

  

 

367,000  

 

367,000  

 

  

   (,l=Kq  02) 
 

(b)                               

fkdksñ f;d. md,k .sKqu 

fYa/b/f.  32,000  úl=Kqï msrsjeh   545,000  

wuq øjH 275,000    

Rcq fõ;k  120,000  fYa/m/f.           27,000  
fmdÿld¾h msrsjeh 145,000  

  

 
572,000  

 
      572,000  

 
  

   (,l=Kq  03) 
 (uq¿ ,l=Kq  10) 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

yhjk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfÊoh 7 - fmdÿld¾h msßjeh i|yd .sKqï ;eîu iy msßjeh l%u 

 (a) 

       
(re.'000)  

msrsjeh whs;uh moku jákdlu wkqmd; 
fomd¾;fñka;=j 

tl;=j 
ksIamdok weiqreï ;dlaIKsl 

hka;% laIh 
hka;% 
meh 6,500 12:8:5 3,120 2,080 1,300 6,500 

l¾udka;Yd,d 
l=,sh 

ìï 
m%udKh 4,800 2:1.5:1.5 1,920 1,440 1,440 4,800 

;;a;aj mrSlaIK 
msrsjeh 

mrSlaIK 
jdr 

.Kk 
1,500 8:4 1,000 500 - 1,500 

úÿ,sh Ndú;h 5,200 15:8:2 3,120 1,664 416 5,200 

tl;=j 9,160  5,684  3,156  18,000  

úNckh 

;dlaIKsl 3,156  65:35  2,051.4  1,104.6     (3,156)               -    

tl;=j 11,211.4  6,788.6          -    18,000  

(,l=Kq  05) 

(b)  
  ksIamdok    weiqreï 

fmdÿld¾h wka;¾.%yk wkqmd;h = 11,211.40 = 6,788.60 

  10,000  8,000 

 = 1,121.14 /mehg = 848.575/ mehg 

(,l=Kq  03) 

(c) 
Wmdx.hl msrsjeh  

   iDcq øjH   

  

             1,500  

iDcq fõ  

  

             2,100  

m%d:ñl  msrsjeh 

  

             3,600  

    ksIamdok  fmdÿld¾h  

   ksIamdok            1.50  1,121.14         1,681.71  

weiqreï             2.00            848.58         1,697.15  

uq¿ msrsjeh 

  

       6,978.86  

(,l=Kq  02) 
 

       (uq¿ ,l=Kq  10) 

  
 

B fldgfiys wjidkh 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

( uq¿ ,l=Kq 25) 

y;ajk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfÊoh 2 - iSñ; iud.ulA i|yd uQ,H m%ldYk 

(a) 
ã%ï fidka ^mqoa.,sl& iud.u 

2021'03'31 Èfkka wjika j¾Ih ioyd 

                                úia;SrK wdodhï m%ldYkh                       (re.’000) 

úl=Kqï  

  

                        31,520  

úl=Kqï msrsjeh  (15,391 +100)  

 

                      (15,491) 

o< ,dNh 

 

                        16,029  

   

    

fjk;a wdodhï 

 

    

jdyk rlaIK jkaosh 

 

              2,400                          2,400  

   

                        18,429  

fnodyersfï úhoï 

 

    

fudag¾ r: laIh 

 

          6,062.5    

m%pdrKh  (800-8)  

 

                 792    

wvudk Kh fjka lsrSu 

 

                 287    

úl=Kqï fldñia 

 

              1,025                    (8,166.5) 

   

    

mrsmd,k úhoï 

 

    

laIh  - msrsh; yd WmlrK 

 

          2,812.5    

             ld¾hd, WmlrK 

 

                 300    

ú.Kk .dia;= 

 

                    70    

jegqma yd fõ;k 

  

              1,800    

úÿ,sh 

 

                 400    

l=,S 

  

                 600    

ÿrl:k 

 

                 900    

ld¾hd, kv;a;= 

 

                 250                    (7,132.5) 

   

    

uq,H úhoï 

 

    

Khlr fmd,sh  (W2)  

 

                 700    

uq,H úhoï 

 

                    29                           (729) 

   

    

nÿ fmr ,dNh 

 

                          2,401  

nÿ 

  

                           (330) 

jif¾ ,dNh 

 

                          2,071  

   

    

 (,l=Kq  13) 

 

C fldgi 
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(b) 

ã%ï fidka ^mqoa.,sl& iud.u 
2021 ud¾;= 31 oskg 

                                  uQ,H ;;a;aj m%ldYkh                         (re.’000) 

cx.u fkdjk j;alï 

 

msßjeh iuq'laIh OdrK w.h 

fudag¾ jdyk 

 

               22,000            16,187.5                    5,812.5  

hka;% 
  

              22,500                5,812.5                  16,687.5  

ld¾hd, WmlrK 

 

               1,500                      600                           900  

   

              46,000             22,600                  23,400  

cx.u j;alï 

 

      

f;d.h 

 

                        950    

fj<| ,eìh hq;= uqo,a 
 

      2,870      

wvudk Kh fjka lsrSu (10%)               (287)                  2,583    

,eìh hq;= jkaosh   

 

                    2,400    

l,ska l< f.ùï-m%pdrKh 

 

                            8    

w;e;s uqo, 

 

       1,057           6,998  

uq¿  j;alï 

 

           30,398  

   

      

ysñlï yd j.lSï 

 

      

ysñlï       

m%ldYs; m%d.aOkh 

 

                  10,000    

fmdÿ ixÑ;h 

 

                    3,200    

r|jd.;a ,dN (7,834 +2,071)                      9,905    

uq¿ ysñlï 

 

             23,105  

   

      

cx.u fkdjk j.lSï 

 

      

14%  Khlr 

 

                    5,000            5,000  

   

      

cx.u j.lSï 

 

      

fj<| f.úh hq;= uqo,a 
 

                    1,873    

f.úh hq;= Khlr fmd,S (W2)                          350    

f.úh hq;= ú.Kk .dia;= 
 

   70            2,293  

   

           30,398  
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^201& Wiia uQ,H .sKqïlrKh  
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W1 – cx.u fkdjk j;alï msrsjeh yd laIh 

 fudag¾ jdyk hka;% 
ld¾hd, 
WmlrK 

tl;=j 

msrsjeh     

2020.04.01 oskg fYaIh 25,000 22,500 1,500 49,000 

bj;a lsrSu (3,000) - - (3,000) 

2021.03.31 oskg fYaIh 22,000 22,500 1,500 46,000 

     

laIh     

2020.04.01 oskg fYaIh 13,125 3,000 300 16,425 

bj;a lsrSu (3,000) - - (3,000) 

laIh 6,062.50 2,812.50 300 9,175 

2021.03.31 oskg fYaIh 16,187.50 5,812.50 600 22,600 

OdrK w.h    23,400 

laIh - fudag¾ jdyk 

bj;a l< fudag¾ jdyk  × 25% × 9/12 = 562.5 
wfkl=;a fudag¾ jdyk 22,000 × 25% 

  

= 5,500 

 

     

 6,062.5 

 

     

  

laIh - hka;% 22,500 × 12.5% 

  

= 2,812.5 

laIh – ld¾hd, WmlrK 1,500 × 20% 

  

= 300 

W2 – f.úh hq;= Khlr fmd,s 

50 × 100 × 14% = 700 - 350 = 350 

W3 – fudag¾ jdyk bj;a lsrSu  – rlaIK jkaosh 

rlaIK jkaosh 3,000 × 80% = 2,400 

(-) OdrK w.h 

   msrsjeh 3,000 

  iuq'laIh. (3,000) 

 

- 

(1.1.2017 -1.1.2021 jir 3) 

   bj;a lsrSfuka ,o ,dNh 
  

2,400 

(,l=Kq  12) 

        (uq¿ ,l=Kq 25) 
 

 
 
 
 

C fldgfiys wjidkh 
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^201& Wiia uQ,H .sKqïlrKh  
yd msßjehlrKh 

Notice:  

 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to questions set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designed 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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